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Poziom trudności: Średni

1. Ktore slowo nie pasuje do innych?

A - kapelusz

B - panama

C - szalik

D - cylinder

2. Ktore nie pasuje do innych?

A - szkotka

B - polka

C - baska

D - jolka

3. Ktore nie pasuje do innych?

A - pioro

B - dlugopis

C - atrament

D - inkaust

4. Ktore nie pasuje do innych?

A - syrenka

B - polonez

C - godlo

D - wolga

5. Ktore nie pasuje do innych?

A - Kret

B - Jaroslaw

C - pogoda

D - zwierz
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6. Ktore nie pasuje?

A - krzeslo

B - stol

C - taboret

D - zydel

7. Ktore nie pasuje?

A - peruka

B - tupet

C - wlosy

D - grzebien

8. Które nie pasuje?

A - Warszawa

B - Wilno

C - Kair

D - Wieden

9. Które nie pasuje?

A - Łódź

B - Polesie

C - Widzew

D - Baluty

10. Ktore nie pasuje?

A - strona

B - ksiazka

C - pagina

D - kartka
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Karta odpowiedzi

1. C

2. B

3. B

4. C

5. D

6. B

7. D

8. C

9. A

10. B
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